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%= (502 ) b7 1/E3 dx = [113 xp* | b? 1/ES
=(1/3b) b* 1/EJ = 1/3 bYEJ

L% =[(1 -2 xb + xb* ) b* VEI dx = [ x - b +1/3 x°/b? ] b? 1/E3
=(b-b+1/3b) b*1/EJ = 1/3 bYEJ

LX=(1) b2 vEI dx = [ x] b7 1/E3
=(b) b’ 1/EI = bYEJ

L¥=[(1) b2 vEI dx = [ x ] b? 1/ED
=(b)b*1/EJ = bYEJ

%= (1 -2 x1b + X262 ) b2 VES dx = [ x- b +1/3 xb* | b? 1/E
=(b-b+1/3b) b* 1/EJ = 1/3 bYEJ

L= [ (5m? ) b? 1EI dx = [1/3 b2 ] b 1/E
=(1/3b) b* 1/EJ = 1/3 bYEJ

1% = [2(-5/2 X216 ) Fb? 1/E3 dx = [-5/6 xib? ] Fb? 1/E3
=(-5/6b) Fb> 1/EJ = -5/6 Fb*/EJ

120 = [*(-5/2 +5 x/b -5/2 X2Jb? ) Fb? 1/E3 dx = [-512 x +5/2 X%Ib -5/6 x°/b* | Fb? 1/E
=(-5/2b +5/2b -5/6 b ) Fb* 1/EJ = -5/6 Fb*/EJ

10 =['(-5/2 +5/2 b ) Fo? UEI dx + [(-1) 6 dx=[-5/2x +5/4 xb ], Fo? 1/E3 +[-x]

=(-5/2b+5/4b) Fo’ /EJ +(-b) ® =-9/4 Fb’/EJ
0= (-s2xb ) Fb? UEI dx + [[(1) 6 dx=[-5/4x%b ] Fb? 1EI +[x] 6
=(5/4b) Fo?1/EJ +(b) 6 =-9/4 Fb/EJ
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= 648. mm’

= 233472. mm*

= 91566. mm*
=-70365. mm*

= 262446, mm*

= 62591. mm*
=artg(2J,,/(3,-3,))/2 =
c=cosa = .9247
s =sina = .3808
X, = 29.83 mm
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,yz = 33.47 mm

N =-1665. N

T,= 2250. N

M, = 999000. Nmm
= 24.mm
u_=-18.14 mm

=-28.73 mm

m
m
m
m

.3906

a,, = N/A-Mcv/d -Msu/d, = 208.8 N/mm?
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